U—16 HvFrra s L (3 sample0_2 Look % f{ii 5 .hsp

sample0_2 Look £ 5. hsp
N " 25 ' e ————
Py TATRTTLELTEZLNT WS DIE, 11HEETT, 2% LookRight
RS "f[}_%@%ﬁ&ﬁﬁ 70 = 7“ EIN hSp %g =
sample0_1 JELAIEH 2 EFL 9 5 hsp = A A= -
sample0_2 Look % {#fi 5 .hsp 29 TRy IO CRARRERRLET
x 30 logstring =
sample0_3 Search % fi#i 5 .hsp
; 31 foreach Value
samp%e?_lj:f;ygﬁ’igiilv -hsp g% | logstring = logstring + str (Value. cnt)
samplel_ FITHE L. hsp 00D
samplel_2 %‘%EO 1J 7= & [E1EES % hsp 34 logmes (logstring)
samplel_3 BE% B0 1F 7= H[alEES 2 2.hsp H - (LookReiht). JHFEH % 1 ing (23
sample2_BE% FL-OF T\ & 245 2 5 .hsp #i% H.CT(LookRgiht), JAPAEHR % logstring ICFE AT 2,
le3_7 47 L%E>.h
2225124:@(%{?“—.}1;; 7P @ sample0_3 Search %{# 5 .hsp
sample0_3 Search Z#{# 5. hsp
@ o “‘f[]_%@%ﬁ&ﬁﬁ A=A N .hsp 25 ;::::::?:::::::::
e b e e = - 26 SearchRight
Z n“—%’ﬁ @N&ﬁﬁ VA=E/ A VN %ﬁﬂ)\’s" 5% @VC“-;—O 21 ===
P 28
26~28fTHIC, 70 L5%TLALET, o e e o -
! i " 29 TNy TR ICADERE R LET
:]lt—x_Edl)nﬁ?iﬁﬁjﬂ’??A.hsp 30 I(;string L7 IR
sample. hsp 31 foreach Value
2 B . R 32 logstring = logstring + str(Value. cnt)
3 | address = "127.0.0. 1 JP7ELR 33 loon
151 por; = 2908 37\k— F%?DODEQEIE 34 logmes (logstring)
; B ool ” 47y L I0ES i OfH% T (SearchRight), AR logstring KA 5.
8 | #include “hspsock. as” le0 4P 5 h
9 | #include “root/Connect. hsp” ®  sample0_4 Put %{£ 5 ! sp
10 | tinclude “root/method. hsp” sample0_4 Put ZfF 5. hsp
11 | #include “root/connectwindow. hsp” 25 |S===—==——======
}% #include “root/playwindow. hsp” %g PutUp
14 | *main . =
15 | oot AL ET Lie7my 7% < (PutUp).
}; check%ame = checkEnd () © samplel_LiciEEr.hsp
repea — s
19 if system_check == 1 : break sample1'_J:LJEd’_.. hsp
20 walt ‘IO 25 ’::::::::::::::::
gé wed 200 %? —
wa i -t y::::::::::::::::
23 while (checkgame == 1); 7 —LAMELNTWAREEY TS kit (walkUp),
%g getReady
2 S @ samplel_2 BE% B O 7= & [nl#Ed 2 .hsp
% samplel_E[ZH#D. hsp
29 == 25 , B ettt
g? dcheckgame = checkEnd () %‘75 If(v?ll(ﬁegfz =21
wen walkLe
32 28 lelse{
33 endgame 29 walkUp
34 [EOF] 30 ]
3] ’ sttt ———————
BY O@O~MIE. Fu s LETALED DTT, JEEROE LK (Value@x) O1ER — FI D 24 CHl
1 2 3 0 frdaL
@ sample0_1 JHEH % 23 % hsp 415 6 1 AF7v A4+ (C/H)
sample0_1 BfEMEMET 5. hsp 71819 A
Bl i 7R RIREERLET Value@.0 40 % b 7' — £ T 2 7wy (BB 2
27 foreach Value Value@.0 28 1 72 % — L fEFFh 3T7AT7L(O)03% 5
28 logstring = logstring + str(Value. cnt) . -
29 loon il 7= Lfefrhe 35,
g? Iogme;(logstring) X
JCCET
32 ' e C Q?
33 walkUp
34 =" O | H Value@.x Offi (x 12 0~9 ICflins A %)
JEPIE#HR % logstring ICREA L T, kiciEdr (walkUp), 0 11234 |5]|6]|7]S8
# Value=1,0,0,0,0,0,0,0,0,0 %5 1 2 0 0 0 0 3 3 1 0

logstring i, 1000000000 12725 . L5 2T, Value@2 IE Lo 2D LT,

b LGN B 27wy 2035 3) b, it (walkLeft)
E o7z b(else) kit (walkUp) L) 7w J A



samplel_3 B¥% B0 7= &[4 3 2.hsp

samplel 3 B2 R DI+1-5[EEF 5 2. hsp

26 TRy IO AR TRLET

21 logstring =

28 foreach Value

29 logstring = logstring + str(Value. cnt)
30 [oop

g; logmes (logstring)

33 if (Value@. 2 1= 2){

34 walkUp

35

36 else : if(Value@.4 1= 2) {
31 walkLeft

38

39 else : if(Value@.8 1= 2){
40 walkDown

4

4 else : if(Value@.6 1= 2){
43 walkRight

44 ]

JAPE#HR % logstring ICFCAT 5,

b L3I o= (Value@.2)2: 2(7ay 735 5)ThiT
(=), kit (walkUp)

Eobelse) LG D= Value@.4)2s 2(7my 7
BH5)THFNE(=), it (walkUp)

Eo7zb(else) b LGH FTo=x(Value@.8) 2 2(7'm v 7
2d 5)ciiFniE(=), Tici (walkDown)

Eo 725 (else) b LGN D~ Z(Value@.6)2 2(7u v 7
P 5)TRiFE(=), fHicEL (walkUp)

sample2 BE% B OF Tl % #4 %2 % .hsp

sample? BEZRDITCRAIZ4.ZEZ 5. hsp

26 [ mode = "up”

28 | while (checkgame ==1) F—LHAHELNTVAEEYEITS

29 getReady

31 "up” && Value@.2 == 2) {
32 mode = “left”

33

34 if (mode = "left” && Value@. 4 == 2) {
35 mode = “down”

36 }

37 if (mode = "down” && Value@.8 == 2) {
gg mode = “right”

40 if (mode = "right” & Value@.6 == 2) {
4 | mode = “up”

42
43
44 if (mode = "up”){
45 walkUp
46 Jelse : if(mode = “left”) {
47 walkLeft
48 Jelse : if(mode = “down”) {
49 walkDown
50 lelse : if(mode == “right”) {
51 walkRight
52 ]
26 fTHT. (I ®IC mode Z"up” & 3 %,
31~42 17H

3 L (if) mode 23 up” C(&&), LD~ & (Value@.2) % 2(7 1
v BB D). mode & “left” &3,

b L (if) mode 28"1eft” T(&&), D~ X (Value@.4)%s 2(7

vy 7hiH5)%k51E. mode % “down” & T3,
3 L (if) mode 23”down” T(&&). F D= & (Value@.8) 73
207my 283%3)k 6, mode & “right"t 3,

3 L (if) mode #3"right” C(&&), 5 D~ Z (Value@.6) %8 2(7

vy 7 RH5)kbIE,
44~52 TH
% L (if)mode 28" up” 72 &, _EiciETr (walkUp)
& o726 (else) b L(f) mode 2871eft” 7z &, eI te (walkLeft)
& o725 (else) b L(f) mode 23"down” 72 & T i< s (walkDown)
Eo 7z b (else) b L (if) mode 28 right” 7% &, /2 i tr (walkRight)

mode % “up”& 3 %,

sample3_7 4 7 L %38 5 .hsp

sample3_7 A TL%EEBS. hsp

15 ode = "up

16

17 pmain

}g Connect H=N—ICEELET
20 | checkgame = checkEnd ()

21 | repeat

22 if system_check == 1 : break
2 wait 10

24 | loop

25 | wait 200

26

27 | while (checkgame ==1) F—LAMGENTWIHEEYEITS

28 getReady

30 if (mode = "up” && Value@.2 == 2) {
31 mode = “left”

32 }

33 it (mode == "left” && Value@.4 == 2) {
34 mode = “down”

35

36 it (mode == “down” && Value@.8 == 2) {
37 mode = “right”

38

39 if (mode = “right” & Value@.6 == 2) {
1(]) mode = “up”

]
4 if (mode = "up” && Value@.2 == 2) {
43 | mode = “left”

44

45

46 if (Value@.2 == 3){

47 mode = “up”

48

49 if (Value@.4 = 3){

50 mode = “left”

51 }

52 if (Value@.6 == 3){

53 mode = “right”

54

55 if (Value@.8 = 3){

56 mode = “down”

57

58

59 if (mode == “up”) {

60 walkUp

61 Jelse : if(mode = "left”) {
62 walkLeft

63 Jelse : if(mode = "down”) {
64 walkDown

65 Jelse : if(mode = “right”) |
66 walkRight

67 }

68 y P ——————————

154TH T, 2L ®IC mode %”up” & 3 3%,
30~44 TH. 59~67 fTHIZ.
@sample2_EE% WO T & %4 % %.hsp & [AlkR
46~57 fTH
b LG Eo~wA(Value@.2)23 3(TAT L0385 5)% b
1¥. mode % “up”& T %,
b LGN ED~vA(Value@ ) 3(TAT L03H )% b
¥, mode & “left"& ¥ 3,
b LG HOwZ(Value@.6) 2 3(7 A4 T L0835 5)7%b
1. mode % “right”& 3 3,
b LG FTo~vA(Value@.3)2: 3(TAT L0 5)% b
1¥. mode % “down” & 3 3,




@) sampled_ % 53 .hsp

samp led_ER %53 hsp
}g E%;ggge;ﬂ#g" 15 fTH . movemode %”up” & 3 3%,
1 16 ffHC. putmode % “off’: ¥ %,
18 pmain
;g Connect H—N—IERELET
21 | checkgame = checkEnd ()
22 | repeat
23 if system_check == 1 : break
24 wait 10
25 | loop
g? wait 200
28 | while (checkgame ==1) ;#—LABELNTVAREEYEITS
%g getReady
31| if (ovemode == “up” 88 Valued.2 = 2) {
g% movemode = “left” 31~58 7 H 3.
34 if (movemode == “left” && Value@.4 == 2) sample3_7 4 7 %38 5 hsp & [Ffk,
gg movemode = “down”
37 if (movemode == “down” && Value@.8 == 2) {
gg movemode = “right”
40 if (movemode == “right” && Value@.6 == 2) {
41 movemode = “up”
4
43 if (movemode == “up” && Value@.2 == 2) {
4 movemode = “left”
45
46
47 if (Value@.2 == 3){
48 movemode = “up”
49 ]
50 if (Value@. 4 ==3){
51 movemode = “left”
52 }
53 if (Value@.6 == 3){
54 movemode = “right”
55 }
g(;‘ if (Valug@.S f; ) |
movemode = “down 01 4=
58 ] 60~91 1TH
gg i Galued 2 = D) b LG FEo<=2Value@.2)2s 1THF 7L 4 ¥ 3) 7%
if (Value@.2 == N P
i putnode = “up” ‘ﬁfo ¥, putmode % 4 up” &%, ) ]
g% Jelse idif(VaIu$@.4== D! EHomb(else) b LGH A=z (Value@.4) 25 1(HHF 7
putmode = “left” . . « »
64 Jelse if(V§|l_Je@.§:: 01 LAXYHRN5)k6E, putmode & “up” & 33,
gg ]e?lslzqu?f:(VaqtljggtB o Eo726(else) B LGH HD~< A Value@.6) 25 1(FHF 7
67 putmode = “down” LAY 3)% 53, putmode & “right” & 43,
ol I o7 b (else) b LGH F o< 2 (Value@8) 5 187
0 LA Y2 2) 7551, de % “down” & ¥ 3%,
71| if (utnode = “off") | N % putmode % “down”e ¥
12 if (movemode == "up”) { #E o7z b(else) putmode  “off”& 3,
13 walkUp
;g }elsclakli_ ]icf(movemod == "left") {
walkLeft L (if de 2Voff"C.
76 Jelse : if(movemode == “down”) b L (i putmode 770 )
71 walkDown o % L (if)movemode 28 up” 7z & | i e (walkUp)
;g }eJ’:TkRiéﬁémovemod = "right"){ Eo72b(else) L (if) movemode 23 left” 7z & /21T T (walkLeft)
g? ]e}l sel HEo7b(else) b L(if) movemode 728"down” 7z & T2 (walkDown)
g% if (pﬂtmode == "up") { Eo 75 (else) b L(if) movemode A3"right” 7 & 47 12 ¥7 (walkRight)
putlp
gé }eIseL:fif(putmode == "left") {
putleft SV off? Tl ds o 72 Ise).
86 Jelse - if (outnode = “down’) [ putmode 28”off” C ;‘75 - 72 5 (else)
87 putDonn o % L (if)putmode 28"up” 72 & _EiCi# < (putUp)
gg }ell)a?:Rigfl]I(DUtmOde = "rignt){ Eo 725 (else) b L(if) putmode 23”left” 7z & /2 12 < (putLeft)
g? | } #Eo T2 b(else) b L(if) putemode 73"down” 7z & T IZ&E < (putDown)
92 ; SEm—mmmm Ho b (else) b L(if) putmode 23 right” 7 & 12 & < (putRight)




